SOONER SURVEY QUESTIONS

Now | want to read you a list of names. For 3. If the election for President were held today,
each one, please tell me first if you have who would you vote for if the candidates
heard of the person, then if so, please tell me were: (Randomize)
if you have a favorable or an unfavorable 62% Donald Trump, the Republican
impression of that person. (After response, 34% Joe Biden, the Democrat
ask: Would you say your impression is 4% (Do not read) Undecided
strongly (favorable / unfavorable) or only
somewhat (favorable / unfavorable)? 4. If the election for President were held today,
Donald Trump who would you vote for if the candidates
49% Strongly Favorable were: (Randomize)
31% Somewhat Favorable 63% Donald Trump, the Republican
5% Somewhat Unfavorable 34% Bernie Sanders, the Democrat
33% Strongly Unfavorable 3% (Do not read) Undecided
3% Heard of / No Opinion
- Never Heard of 5. If the election for President were held today,
who would you vote for if the candidates
. (Skip if Registered Republican) If the were: (Randomize)
presidential Democratic primary were held 61% Donald Trump, the Republican
today, would you be voting for: (Randomize 35% Pete Buttigeig, the Democrat
names) n=242 3% (Do not read) Undecided

11% Joe Biden
17% Bernie Sanders
8% Elizabeth Warren

9% Pete Buttigieg This edition of Sooner Survey was conducted February

3% Andrew Yang 10-13, 2020. The study of 500 registered voters in

- Tom Steyer Oklahoma were collected by live agents on mobile (40%)
18% Michael Bloomberg and landline (34%) telephones and through our text-to-

7% Amy Klobuchar web CAWI system (26%). The confidence interval

3% One of the Other Candidates associated with this sample is that 95% of the time the

15% Or would you not likely vote in the results are within 4.3% of the true values.

Democratic Presidential Primary
8% (Do not read) Undecided

Donald Trump Favorable Rating Over Time
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